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2 (a) (i) Study Fig.2, which shows the usage of natural gas in Pakistan in the year 2010~11.
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Fig.2

In the key, name the activities A and B which are two of the main users of natural gas in
Pakistan. 2]

i) State two ways in which gas is transported to homes in Pakistan.
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The City School

North Nazimabad Boys Branch
Geography
Class:9
Name:_______________________        Section:___        Date:____________               Max Marks:
Q1(a) Study Fig.2, which shows the usage of natural gaas in Pakistan in the year 2010-11.

[image: image5.png]Since 1978




In the key, name the activites A and B which are two of the main users of natural gas in Pakistan.
[2]

(b) Study Fig. 3 which is a graph showing usage of electricity in Gigawatt-hours by three different sectors over a ten – year period.
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(i) What was the industrial usage of electricity in 2004?




[1]

(ii) To what extent are the changes over the ten years similar for the three sector?
[3]

(iii) Loadshedding is the deliberate, temporary reduction in the supply of electricity from a power station. Explain the effect of loadshedding on industry and business.

[4]

(c) It has been suggested that a power station to harness solar energy should be built in Bahawalpur District, Punjab. The solar panels and associated access roads and buildings will cover 25km2.

Read the following two views about this proposal:
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Which view do you agree with more? Give reasons to support your answer.
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(d) It has been suggested that a power station to hamess solar energy should be buit in SR
Bahawalpur District, Punjab. The solar panels and associated access roads and s will
cover 25km?. 5 2059 w5 ap 2t
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Read the following two views about this proposal:
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Which view do you agree with more? Give reasons to support your answer.


[6]

(d) (i) Fig. 5 is a diagram of a thermal power station.
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() () Fig.5is a diagram of a thermal power station.
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Choose three terms from the list below and use them to label the diagram in three of the

spaces provided.

reservoir  transformer  boiler turbine

coolingtower  steam  [3]

Explain why burning fossil fuels in power stations is unsustainable.
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Choose three terms from the list below and use them to label the daigram in three of the spaces provided.

Reservoir
    transformer
    boiler          turbine
    cooling tower

steam

[2]

(ii) Explain why burning fossil fuels in power stations is unsustainable.


[2]
